SCL Processing.nb

m Processing APMP_Cal data from SCL Hong Kong

In[1]:= Of [General ::spell1l];
In[2]:= dataPath ="g:\\APMP_Cal \\";
= Definitions

I n[25]: = dat aHost = ReadCCTF["host . scl.dat"];
(*Host reported values )
RepHost I nt Dy =55;
RepHost Ref D'y = 10;
RepHost Ant Dy = 728;
RepHost DIy = RepHostIntDly + RepHost Ant Dy - RepHost Ref Dl y;

(xHost Receiver internal settings:x)
RxHost I nt D'y =55;
RxHost Ref D'y = 10;
RxHost Ant Dy = 728;
RxHostDly = RxHostIntDly + RxHost Ant Dly - RxHost Ref Dl y;
Host Correcti on = RepHost DIy - RxHost Dl y;

dat aTrav = ReadCCTF["trav. scl . dat"J;
(xHost  reported values:x)
RepTravintDy =68;
RepTravRef Dy = 10;
RepTravAnt Dy = 720;
RepTravDly = RepTravintD'y + RepTravAntD 'y - RepTravRef D y;

(«Travel | ing receiver internal settings:x)
RxTravintDy =68;
RxTravRef Dy = 10;
RxTravAntDly = 720;
RxTravDly = RxTravintDy + RxTravAntDly - RxTravRef Dl y;
TravCorrection=RepTravDy - RxTravD y;

> Read 382 tracks from g:\ APMP_Cal\ host. scl . dat

> Read 346 tracks from g:\ APMP_Cal\trav. scl. dat

In[45]:= << Q&aphics Gaphics’
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I n[46]:

In[47]:

I n[ 48] :

In[49]:

I n[50]:

In[51]:

In[52]:

= ListPl ot [MakeXY[Map[Dat eVal ue, dataTrav], Map[Ref GPS dataTrav]]ll;
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= ListPl ot [MakeXY[Map[Dat eVal ue, dataHost ], Map[Ref GPS, dataHost]1]11;
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= dMerge = Mer geCCTF[dat aHost , dataTrav];

> First 382 tracks, second 346 tracks, matching 289 tracks

= diffdataGPS=
Map [ {Dat eVal ue [#1], Ref SV[#1] - Ref SV2[#1] - HostCorrection + TravCorrection,
TrackLengt h[#1], TrackLengt h2[#1]1} & dMergel;

= diffdata@S-=FilterTrackLengt h[diffdataGPS 780];

256 commmon tracks out of 289 were of length greater than or equal to 780 seconds.

= ListPl ot [di ffdataGPS, PlotRange-» Al ];
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= << Statistics’ Linear Regression
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In[53]:= regress = Regress|[diffdataGsS, {1, x}, XI;
rtabl e = ANOVATabl e /. regress;
ptabl e = Paranet er Tabl e /. regress;
MIDFi rst = Fi rst [dMerge] [[3]11;
MiDLast = Last [dMerge][[3]11];
MIDM ddl e = MIDFi rst + (MIDFi rst - MIDLast ) /2;
intercept =ptable[[1, 1, 111;
SEi ntercept = ptable[[1, 1, 2]];
slope=ptable[[1, 2, 1]1;
SEsl ope = ptable[[1, 2, 2]1;
rme =Sqrt [rtable[[1, 2, 3]111;
MeanOf f set =i ntercept +sl opexMIDM ddl e;
Print [" Summary" ];
Print [Lengt h[dMerge], " common-view tracks were anal ysed between MID ",
MIDFirst, " and MID ", MlDLast ];
Print["The nean offset (Host Rx - Travelling Rx) between the two receivers was ",

MeanOffset, " ns, with an RVS deviation of ", rnms, ns."7;

Print["The slope of the line of best fit was ", sl ope %1000,

ps/day, with a standard error of ", SEslope %1000, " ps/day."];
Sunmar y
289 common-vi ew tracks were anal ysed between MID 51648 and MID 51662

The nean offset (Host Rx - Travelling Rx) between the two receivers was
3.97377 ns, with an RMS devi ation of 3.90487 ns.

The sl ope of the line of best fit was -21.5095
ps/day, with a standard error of 60.0925 ps/day.



